

SUMS OF GENERALIZED HARMONIC SERIES

Michael E. Hoffman

Department of Mathematics, U. S. Naval Academy, Annapolis, Maryland meh@usna.edu

Courtney Moen

Department of Mathematics, U. S. Naval Academy, Annapolis, Maryland chm@usna.edu

Received: 9/13/13, Accepted: 6/12/14, Published: 8/27/14

Abstract

We prove two results on sums of generalized harmonic series.

1. Introduction

For nonnegative integers a_1, a_2, \ldots, a_k with $a_1 + \cdots + a_k \ge 2$, define

$$H(a_1, a_2, \dots, a_k) = \sum_{n=1}^{\infty} \frac{1}{n^{a_1}(n+1)^{a_2} \cdots (n+k-1)^{a_k}}.$$
 (1)

It is easy to show that this series converges, and in fact (by considering the partial-fractions decomposition of $n^{-a_1}(n+1)^{-a_2}\cdots(n+k-1)^{-a_k}$) that it can be written as a rational number plus a sum of values $\zeta(m)$ of the Riemann zeta function for $2 \leq m \leq \max\{a_1,\ldots,a_k\}$. For example,

$$\begin{split} H(2,3) &= \sum_{n=1}^{\infty} \frac{1}{n^2(n+1)^3} = \sum_{n=1}^{\infty} \left[-\frac{3}{n} + \frac{1}{n^2} + \frac{3}{n+1} + \frac{2}{(n+1)^2} + \frac{1}{(n+1)^3} \right] \\ &= -3 \sum_{n=1}^{\infty} \left[\frac{1}{n} - \frac{1}{n+1} \right] + \sum_{n=1}^{\infty} \frac{1}{n^2} + \sum_{n=1}^{\infty} \frac{2}{(n+1)^2} + \sum_{n=1}^{\infty} \frac{1}{(n+1)^3} = -6 + 3\zeta(2) + \zeta(3). \end{split}$$

We call the quantity (1) an H-series of length k and weight $a_1 + \cdots + a_k$. In §2 below we establish various formulas for H-series, in which Stirling numbers of the first kind are prominently involved. These are used in §3 to prove the following result.

INTEGERS: 14 (2014)

2

Theorem 1. For any positive integers k, m with $m \geq 2$,

$$\sum_{a_1+a_2+\cdots+a_k=m} H(a_1,\ldots,a_k) = k\zeta(m),$$

where the sum is over k-tuples of nonnegative integers.

The *H*-series can be put into the framework of Shintani zeta functions [5]. For an $m \times k$ matrix $A = (a_{ij})$ and a k-vector $\vec{x} = (x_1, \ldots, x_k)$, the Shintani zeta function of (s_1, \ldots, s_k) is

$$\zeta(s_1, \dots, s_k; A; \vec{x}) = \sum_{n_1, \dots, n_m \ge 0} \frac{1}{(x_1 + \sum_{i=1}^m a_{i1} n_i)^{s_1} \cdots (x_k + \sum_{i=1}^m a_{ik} n_i)^{s_k}}.$$
 (2)

Then an H-series is just the special case of (2) with $m=1, A=[1\ 1\ \cdots\ 1]$, and $\vec{x}=(1,2,\ldots,k)$. Several other special cases of Shintani zeta functions have been extensively studied. These include the Barnes zeta functions [1], which is the case k=1; and the multiple zeta values [4, 7], which is the case where m=k, A is the $k\times k$ matrix with 1's on and below the main diagonal and 0's above, and $\vec{x}=(k,k-1,\ldots,1)$. In the latter case the series (2) becomes

$$\zeta(s_1, \dots, s_k) = \sum_{n_1, \dots, n_k \ge 0} \frac{1}{(k + \sum_{i=1}^k n_i)^{s_1} (k - 1 + \sum_{i=2}^k n_i)^{s_2} \cdots (1 + n_k)^{s_k}}$$
$$= \sum_{m_1 > m_2 > \dots > m_k \ge 1} \frac{1}{m_1^{s_1} m_2^{s_2} \cdots m_k^{s_k}}.$$

In fact, Theorem 1 is superficially similar to the famous "sum conjecture" for multiple zeta values, i.e.,

$$\sum_{a_1 + \dots + a_k = m, \ a_i \ge 1, \ a_1 > 1} \zeta(a_1, a_2, \dots, a_k) = \zeta(m)$$
(3)

for $m \geq 2$. The multiple zeta values sum conjecture (3) was made by the second author (see [4]), and was proved in full generality by A. Granville [2]. Note, however, that $\zeta(a_1,\ldots,a_k)$ is a k-fold sum while $H(a_1,\ldots,a_k)$ is a single sum. Also, the sum on the left-hand side of (3) is over k-tuples of positive integers rather than nonnegative integers.

It is also natural to ask about the sum of all H-series $H(a_1, \ldots, a_k)$ of weight m over all k-tuples (a_1, \ldots, a_k) of positive integers of fixed weight. As indicated by the example

$$H(1,1) = \sum_{n=1}^{\infty} \frac{1}{n(n+1)} = 1,$$

the answer is a rational number. More precisely, we have the following result, which follows easily from the machinery developed in §2.

Theorem 2. For $m \ge k \ge 2$,

$$\sum_{a_1 + \dots + a_k = m, \ a_i \ge 1} H(a_1, \dots, a_k) = \frac{1}{(k-1)!} \sum_{i=0}^{k-2} {k-2 \choose i} \frac{(-1)^i}{(i+1)^{m-k+1}}.$$

2. H-Series and Stirling Numbers of the First Kind

Henceforth we assume m to be a positive integer greater than 1. We have the following result.

Lemma 1. Let $1 \le i < j \le p$, and let $a_1, \ldots, a_{i-1}, a_{i+1}, \ldots, a_{j-1}, a_{j+1}, \ldots, a_p$ be fixed nonnegative integers. Then

$$\sum_{k=1}^{m-1} H(a_1, \dots, a_{i-1}, k, a_{i+1}, \dots, a_{j-1}, m-k, a_{j+1}, \dots, a_p) = \frac{1}{j-i} [H(a_1, \dots, a_{i-1}, m-1, a_{i+1}, \dots, a_{j-1}, 0, a_{j+1}, \dots, a_p) - H(a_1, \dots, a_{i-1}, 0, a_{i+1}, \dots, a_{j-1}, m-1, a_{j+1}, \dots, a_p)].$$

Proof. Evidently

$$\frac{1}{(n+i-1)(n+j-1)} = \frac{1}{j-i} \left[\frac{1}{n+i-1} - \frac{1}{n+j-1} \right],$$

so that

$$H(a_1, \dots, a_{i-1}, k, a_{i+1}, \dots, a_{j-1}, m-k, a_{j+1}, \dots, a_p) = \frac{1}{j-i} [H(a_1, \dots, a_{i-1}, k, a_{i+1}, \dots, a_{j-1}, m-k-1, a_{j+1}, \dots, a_p) - H(a_1, \dots, a_{i-1}, k-1, a_{i+1}, \dots, a_{j-1}, m-k, a_{j+1}, \dots, a_p)].$$

Now sum on k to obtain the conclusion.

Using the preceding result, we can obtain a formula for the sum of all H-series of fixed weight and length having nonzero entries at specified locations.

Lemma 2. For $k \ge 1$ and $1 \le i_0 < i_1 < \cdots < i_k \le n$,

$$\sum_{a_{i_0} + a_{i_1} + \dots + a_{i_k} = m, \ a_j \neq 0 \ iff \ j = i_q \ for \ some \ q} H(a_1, \dots, a_n) = \sum_{j=1}^k \frac{(-1)^{j-1} H_{i_0, i_j - 1}^{(m-k)}}{(i_j - i_0)(i_j - i_1) \cdots (i_j - i_{j-1})(i_{j+1} - i_j) \cdots (i_k - i_j)}, \quad (4)$$

where for $p \leq q$

$$H_{p,q}^{(n)} = \sum_{i=n}^{q} \frac{1}{j^n}.$$

Proof. For convenience, denote by $S(i_0, i_1, \ldots, i_k; m)$ the left-hand side of equation (4). We proceed by induction on k, using Lemma 1. First, note that the case k = 1 of the result, i.e.,

$$S(i_0, i_1; m) = \frac{H_{i_0, i_1 - 1}^{(m-1)}}{i_1 - i_0},$$

follows immediately from Lemma 1. Now suppose the result holds for k, and consider $S(i_0,\ldots,i_k,i_{k+1};m)$, i.e., the sum of all $H(a_1,\ldots,a_n)$ with nonzero entries $a_{i_0},\ a_{i_1},\ldots,a_{i_{k+1}}$ adding up to m. Fix $a_{i_0},\ldots,a_{i_{k-1}}$, and sum the $H(a_1,\ldots,a_n)$ from $a_{i_k}=1$ to $a_{i_k}=m-a_{i_0}-\cdots-a_{i_{k-1}}-1$, keeping the sum of a_{i_k} and $a_{i_{k+1}}$ equal to $m-a_{i_0}-\cdots-a_{i_k}$. By Lemma 1 this gives us, after summation on $a_{i_0},\ldots,a_{i_{k-1}}$,

$$\frac{1}{i_{k+1}-i_k} \left[S(i_0,\ldots,i_{k-1},i_k;m-1) - S(i_0,\ldots,i_{k-1},i_{k+1};m-1) \right]. \tag{5}$$

By the induction hypothesis, $S(i_0, \ldots, i_k; m-1)$ is

$$\sum_{i=1}^{k-1} \frac{(-1)^{j-1} H_{i_0, i_j-1}^{(m-k-1)}}{(i_j-i_0)\cdots(i_j-i_{j-1})(i_{j+1}-i_j)\cdots(i_k-i_j)} + \frac{(-1)^{k-1} H_{i_0, i_k-1}^{(m-k-1)}}{(i_k-i_0)\cdots(i_k-i_{k-1})}$$

and $S(i_0, \ldots, i_{k-1}, i_{k+1}; m-1)$ is

$$\sum_{j=1}^{k-1} \frac{(-1)^{j-1} H_{i_0, i_j - 1}^{(m-k-1)}}{(i_j - i_0) \cdots (i_j - i_{j-1}) (i_{j+1} - i_j) \cdots (i_{k-1} - i_j) (i_{k+1} - i_j)} + \frac{(-1)^{k-1} H_{i_0, i_{k+1} - 1}^{(m-k-1)}}{(i_{k+1} - i_0) \cdots (i_{k+1} - i_{k-1})}.$$

Hence the quantity (5) is

$$\begin{split} \sum_{j=1}^{k-1} \frac{(-1)^{j-1} H_{i_0,i_j-1}^{(m-k-1)}}{(i_j-i_0)\cdots(i_j-i_{j-1})(i_{j+1}-i_j)\cdots(i_{k-1}-i_j)} \cdot \frac{\frac{1}{i_k-i_j} - \frac{1}{i_{k+1}-i_j}}{i_{k+1}-i_k} \\ + \frac{(-1)^{k-1} H_{i_0,i_k-1}^{(m-k-1)}}{(i_k-i_0)\cdots(i_k-i_{k-1})(i_{k+1}-i_k)} + \frac{(-1)^k H_{i_0,i_{k+1}-1}^{(m-k-1)}}{(i_{k+1}-i_0)\cdots(i_{k+1}-i_{k-1})(i_{k+1}-i_k)} \\ = \sum_{j=1}^{k+1} \frac{(-1)^{j-1} H_{i_0,i_j-1}^{(m-k-1)}}{(i_j-i_0)\cdots(i_j-i_{j-1})(i_{j+1}-i_j)\cdots(i_{k+1}-i_j)}. \end{split}$$

For $0 \le k \le n-1$, let C(k, n; m) be the sum of all $H(a_1, \ldots, a_n)$ of weight m with exactly k+1 of the a_i nonzero. Since each of the $H_{i_0, i_j-1}^{(m-k)}$ in the preceding result is a sum of quantities $\frac{1}{p^{m-k}}$ with $1 \le i_0 \le p \le i_j - 1 \le n-1$, for $k \ge 1$ we can write

$$C(k, n; m) = \sum_{j=1}^{n-1} \frac{c_{k,j}^{(n)}}{j^{m-k}}$$
(6)

where $c_{k,j}^{(n)}$ is rational. Then the numbers $c_{k,j}^{(n)}$ have a symmetry/antisymmetry property.

Lemma 3. For
$$1 \le k, j \le n-1$$
, $c_{k,n-j}^{(n)} = (-1)^{k-1} c_{k,j}^{(n)}$

Proof. Borrowing the notation used in the proof of Lemma 2, we have

$$C(k, n; m) = \sum_{1 \le i_0 < i_1 < \dots < i_k \le n} S(i_0, i_1 \dots, i_k; m).$$

Now note that Lemma 2 implies that if

$$S(i_0, i_1, \dots, i_k; m) = p_1 + p_2 \frac{1}{2^{m-k}} + \dots + p_{n-1} \frac{1}{(n-1)^{m-k}},$$

then

$$S(n+1-i_k, n+1-i_{k-1}, \dots, n+1-i_0; m) = (-1)^{k-1} \left(p_{n-1} + p_{n-2} \frac{1}{2^{m-k}} + \dots + p_1 \frac{1}{(n-1)^{m-k}} \right).$$

The first (and last) columns of the numbers $c_{k,j}^{(n)}$ can be written in terms of (unsigned) Stirling numbers of the first kind: we write $\begin{bmatrix} n \\ k \end{bmatrix}$ for the number of permutations of $\{1, 2, \ldots, n\}$ with exactly k disjoint cycles. This notation follows [3], which is also a useful reference on these numbers.

Lemma 4. For $1 \le k \le n - 1$,

$$c_{k,1}^{(n)} = (-1)^{k-1} c_{k,n-1}^{(n)} = \frac{1}{(n-1)!} \begin{bmatrix} n \\ k+1 \end{bmatrix}.$$

Proof. It suffices to prove the formula for $c_{k,n-1}^{(n)}$, as that for $c_{k,1}^{(n)}$ then follows from Lemma 3. Now Lemma 2 says that

$$c_{k,n-1}^{(n)} = \sum_{1 \le i_0 \le i_1 \le \dots \le i_{k-1} \le n} \frac{(-1)^{k-1}}{(n-i_0)(n-i_1)\cdots(n-i_{k-1})},$$

so to prove the result we need to show

$$\sum_{1 \le i_0 < i_1 < \dots < i_{k-1} < n} \frac{(n-1)!}{(n-i_0)(n-i_1) \cdots (n-i_{k-1})} = {n \brack k+1}.$$

The left-hand side is evidently the sum of all products of n-k-1 distinct factors from the set $\{1,2,\ldots,n-1\}$, and that this is the Stirling number $\begin{bmatrix} n \\ k+1 \end{bmatrix}$ follows from consideration of the generating function

$$x(x+1)\cdots(x+n-1) = \sum_{k=1}^{n} {n \brack k} x^{k}, \quad n \ge 1.$$
 (7)

The preceding result generalizes as follows.

Lemma 5. For $1 \le k, j \le n - 1$,

$$c_{k,j}^{(n)} = \sum_{q=1}^{j} \sum_{p=1}^{q} \frac{(-1)^{p-1} {q \brack p} {n+1-q \brack k+2-p}}{(q-1)!(n-q)!}.$$
 (8)

Proof. We need to show that

$$c_{k,j}^{(n)} - c_{k,j-1}^{(n)} = \sum_{p=1}^{j} \frac{(-1)^{p-1} {j \brack p} {n+1-j \brack k+2-p}}{(j-1)!(n-j)!}.$$
 (9)

Suppose first that $j \leq k$. Using Lemma 2, all terms that contribute to $c_{k,n-j+1}^{(n)}$ also contribute to $c_{k,n-j}^{(n)}$, and the terms that contribute to $c_{k,n-j}^{(n)}$ and not to $c_{k,n-j+1}^{(n)}$ are of the forms

$$\frac{(-1)^{k-1}H_{i_0,n-j}^{(m-k)}}{(n+1-j-i_0)\cdots(n+1-j-i_{k-1})}, \ i_0 < i_1 < \cdots < i_{k-1} < n+1-j,$$

$$\frac{(-1)^{k-2}H_{i_0,n-j}^{(m-k)}}{(n+1-j-i_0)\cdots(n+1-j-i_{k-2})(i_k-n-1+j)},$$

$$i_0 < i_1 < \cdots < i_{k-2} < n+1-j < i_k, \dots$$

$$(-1)^{k-j}H_{i_0,n-j}^{(m-k)}$$

$$\overline{(n+1-j-i_0)\cdots(n+1-j-i_{k-j})(i_{k-j+2}-n-1+j)\cdots(i_k-n-1+j)},$$

$$i_0 < i_1 < \cdots < i_{k-j} < n+1-j < i_{k-j+2} < \cdots < i_k$$

(where we assume throughout that i_0, \ldots, i_k are integers between 1 and n), which

we refer to as classes $1, 2, \dots, j$. The contribution from class 1 is

$$\sum_{i_0 < \dots < i_{k-1} < n+1-j} \frac{(-1)^{k-1}}{(n+1-j-i_0)(n+1-j-i_1) \cdots (n+1-j-i_{k-1})}$$

$$= (-1)^{k-1} \frac{\binom{n+1-j}{k+1}}{(n-j)!} = (-1)^{k-1} \frac{\binom{j}{1}}{(j-1)!} \frac{\binom{n+1-j}{k+1}}{(n-j)!}.$$

The contribution from class 2 is

$$\sum_{n+1-j< i_k} \frac{1}{i_k - n - 1 + j} \sum_{i_0 < \dots < i_{k-2} < n+1-j} \frac{(-1)^{k-2}}{(n+1-j-i_0) \cdots (n+1-j-i_{k-2})}$$

$$= \sum_{s=1}^{j-1} \frac{1}{s} \sum_{i_0 < \dots < i_{k-2} < n+1-j} \frac{(-1)^{k-2}}{(n+1-j-i_0) \cdots (n+1-j-i_{k-2})}$$

$$= (-1)^{k-1} \frac{(-1) {j \choose 2}}{(j-1)!} \frac{{n+1-j \choose k}}{(n-j)!},$$

and so forth. Note that for class j we must have $i_{k-j+2} = n+2-j$, $i_{k-j+3} = n+3-j$, ..., $i_k = n$ and the contribution from this class is

$$\sum_{i_0 < \dots < i_{k-j} < n+1-j} \frac{(-1)^{k-j}}{(n+1-j-i_0)(n+1-j-i_1) \cdots (n+1-j-i_{k-j})(j-1)!}$$

$$= (-1)^{k-1} \frac{(-1)^{j-1} {j \brack j}}{(j-1)!} \frac{{n+1-j \brack k-j+2}}{(n-j)!}.$$

Adding together the contributions, we see that $c_{k,n-j}^{(n)} - c_{k,n-j+1}^{(n)}$ is

$$(-1)^{k-1} \frac{\binom{j}{1} \binom{n+1-j}{k+1} - \binom{j}{2} \binom{n+1-j}{k} + \dots + (-1)^{j-1} \binom{j}{j} \binom{n+1-j}{k-j+2}}{(j-1)!(n-j)!}, \tag{10}$$

and equation (9) follows from Lemma 3.

Now if j > k, then classes k + 1, k + 2, ..., j are evidently empty. All the corresponding terms in (10) are zero, except for

$$(-1)^{k-1} \frac{(-1)^k {j \brack k+1} {n+1-j \brack 1}}{(j-1)!(n-j)!} = -\frac{{j \brack k+1}}{(j-1)!}.$$

This quantity is accounted for by terms that contribute to $c_{k,n-j+1}^{(n)}$ and not to

 $c_{k,n-j}^{(n)}$, provided

$$\sum_{n-j+1 < i_1 < \dots < i_k} \sum_{p=1}^k \frac{(-1)^{p-1}}{(i_p - n + j - 1)(i_p - i_1) \cdots (i_p - i_{p-1})(i_{p+1} - i_p) \cdots (i_k - i_p)}$$

$$= \frac{\binom{j}{k+1}}{(j-1)!}. \quad (11)$$

By equating the expressions given for $c_{k,1}^{(j)}$ by Lemmas 2 and 4 respectively, we have

$$\sum_{1 < i_1 < \dots < i_k < j} \sum_{p=1}^k \frac{(-1)^{p-1}}{(i_p-1)(i_p-i_1)\cdots(i_p-i_{p-1})(i_{p+1}-i_p)\cdots(i_k-i_p)} = \frac{{j \brack k+1}}{(j-1)!},$$

from which equation (11) follows.

3. Proofs of the Theorems

First we need one more lemma.

Lemma 6. For positive integers n and j,

$$\sum_{q=1}^{j} \binom{n+j-q}{j} \binom{j-1}{q-1} (-1)^q = -n.$$
 (12)

Proof. We use the "snake oil method" of H. Wilf [6]. Let

$$F(x) = \sum_{n=1}^{\infty} x^n \sum_{q=1}^{j} \binom{n+j-q}{j} \binom{j-1}{q-1} (-1)^q.$$

Then F(x) can be rewritten

$$\sum_{q=1}^{j} {j-1 \choose q-1} (-1)^q \sum_{n=1}^{\infty} {n+j-q \choose j} x^n = \sum_{q=1}^{j} {j-1 \choose q-1} (-1)^q \sum_{m=j}^{\infty} {m \choose j} x^{m-j+q}$$

$$= \sum_{q=1}^{j} {j-1 \choose q-1} (-1)^q \frac{x^q}{(1-x)^{j+1}} = \frac{-x}{(1-x)^{j+1}} \sum_{p=0}^{j-1} {j-1 \choose p} (-x)^p$$

$$= \frac{-x}{(1-x)^{j+1}} (1-x)^{j-1} = -\frac{x}{(1-x)^2} = -x - 2x^2 - 3x^3 - \cdots,$$

and equation (12) follows.

Now we prove Theorems 1 and 2.

Proof of Theorem 1. We have

$$\sum_{a_1+a_2+\dots+a_n=m} H(a_1,\dots,a_n) = \sum_{k=0}^{n-1} C(k,n;m).$$

Now

$$\begin{split} C(0,n;m) &= H(m,0,0\ldots,0) + H(0,m,0,\ldots,0) + \cdots + H(0,\ldots,0,m) \\ &= \zeta(m) + \zeta(m) - 1 + \cdots + \zeta(m) - 1 - \frac{1}{2^m} - \cdots - \frac{1}{(n-1)^m} \\ &= n\zeta(m) - (n-1) - \frac{n-2}{2^m} - \cdots - \frac{1}{(n-1)^m} \end{split}$$

and

$$C(k, n; m) = \sum_{i=1}^{n-1} \frac{c_{k,j}^{(n)}}{j^{m-k}}, \quad k \ge 1,$$

so to prove the result we need

$$\sum_{i=1}^{n-1} j^i c_{i,j}^{(n)} = n - j$$

for all $1 \le j \le n-1$. By Lemma 5 this means we must show

$$\sum_{i=1}^{n-1} \sum_{q=1}^{j} \sum_{p=1}^{q} j^{i} \frac{(-1)^{p-1} {q \brack p} {n+1-q \brack i+2-p}}{(q-1)!(n-q)!} = n-j.$$
 (13)

We rewrite the left-hand side of equation (13) as

$$\sum_{q=1}^{j} \sum_{p=1}^{q} \frac{(-1)^{p-1} {q \brack p}}{(q-1)!} \cdot \frac{1}{(n-q)!} \sum_{i=1}^{n-1} {n+1-q \brack i+2-p} j^{i}.$$
 (14)

If p = 1, the inner sum in (14) is

$$\sum_{i=1}^{n-1} \binom{n+1-q}{i+1} j^i = \sum_{i=2}^n \binom{n+1-q}{i} j^{i-1} = \frac{(n+j-q)!}{j(j-1)!} - \binom{n+1-q}{1},$$

where we have used equation (7). Hence

$$\frac{1}{(n-q)!} \sum_{i=1}^{n-1} {n+1-q \choose i+1} j^i = {n+j-q \choose j} - 1$$

since $\binom{n+1-q}{1} = (n-q)!$. If $p \ge 2$, then the inner sum in (14) is

$$\sum_{i=1}^{n-1} \binom{n+1-q}{i+2-p} j^i = \sum_{i\geq 1} \binom{n+1-q}{i} j^{i+p-2} = j^{p-2} \frac{(n+j-q)!}{(j-1)!} = j^{p-1} \frac{(n+j-q)!}{j!},$$

again using equation (7), from which follows

$$\frac{1}{(n-q)!} \sum_{i=1}^{n-1} {n+1-q \choose i+2-p} j^i = j^{p-1} {n+j-q \choose j}.$$

Thus, the sum (14) can be written

$$\begin{split} \sum_{q=1}^{j} \left[\binom{n+j-q}{j} - 1 \right] + \sum_{q=2}^{j} \sum_{p=2}^{q} \frac{(-1)^{p-1} \binom{q}{p}}{(q-1)!} \binom{n+j-q}{j} j^{p-1} \\ &= -j + \sum_{q=1}^{j} \binom{n+j-q}{j} + \sum_{q=2}^{j} \binom{n+j-q}{j} \frac{1}{(q-1)!} \sum_{p=2}^{q} (-j)^{p-1} \binom{q}{p}. \end{split}$$

If we use equation (7), this becomes

$$\begin{split} -j + \sum_{q=1}^{j} \binom{n+j-q}{j} + \sum_{q=2}^{j} \binom{n+j-q}{j} \frac{1}{(q-1)!} \left[(1-j) \cdots (q-1-j) - \begin{bmatrix} q \\ 1 \end{bmatrix} \right] \\ &= -j + \sum_{q=1}^{j} \binom{n+j-q}{j} - \sum_{q=2}^{j} \binom{n+j-q}{j} + \sum_{q=2}^{j} \binom{n+j-q}{j} \binom{j-1}{q-1} (-1)^{q-1} \\ &= -j + \binom{n+j-1}{j} + \sum_{q=2}^{j} \binom{n+j-q}{j} \binom{j-1}{q-1} (-1)^{q-1} \\ &= -j - \sum_{q=1}^{j} \binom{n+j-q}{j} \binom{j-1}{q-1} (-1)^{q}. \end{split}$$

Then equation (13) follows from Lemma 6.

Proof of Theorem 2. It suffices to show that

$$c_{n-1,j}^{(n)} = \frac{(-1)^{j-1}}{(n-1)!} \binom{n-2}{j-1}.$$

From Lemma 5 we have

$$c_{n-1,j}^{(n)} = \sum_{q=1}^{j} \sum_{p=1}^{q} \frac{(-1)^{p-1} {q \brack p} {n+1-q \brack n+1-p}}{(q-1)!(n-q)!} = \sum_{q=1}^{j} \frac{(-1)^{q-1} {q \brack q} {n+1-q \brack n+1-q}}{(q-1)!(n-q)!}$$
$$= \frac{1}{(n-1)!} \sum_{q=1}^{j} (-1)^{q-1} {n-1 \brack q-1} = \frac{(-1)^{j-1}}{(n-1)!} {n-2 \brack j-1}.$$

INTEGERS: 14 (2014) 11

References

 E. W. Barnes, On the theory of multiple gamma functions, Trans. Cambridge Philos. Soc. 19 (1904), 374-425.

- [2] A. Granville, A decomposition of Riemann's zeta-function, in *Analytic Number Theory*, Y. Motohashi (ed.), London Math. Soc. Lect. Note Ser. 247, Cambridge University Press, New York, 1997, pp. 95-101.
- [3] R. Graham, D. Knuth, and O. Patashnik, Concrete Mathematics, 2nd ed., Addison-Wesley, New York, 1994.
- [4] M. E. Hoffman, Multiple harmonic series, Pacific J. Math. 152 (1992), 275-290.
- [5] T. Shintani, On evaluation of zeta functions of totally real algebraic number fields at non-positive integers, J. Fac. Sci. Univ. Tokyo Sect. IA Math. 23 (1976), 393-417.
- [6] H. Wilf, Generatingfunctionology, 3rd ed., A K Peters, Wellesley, MA, 2006.
- [7] D. Zagier, Values of zeta functions and their applications, in First European Congress of Mathematics (Paris, 1992), Vol. II, A. Joseph et. al. (eds.), Birkhäuser, Basel, 1994, pp. 497-512.